123 | Skip-Counting Patterns with Tables Name:

1]

There are 5 rabbit holes in Benjamin's backyard. If 3 rabbits live in
each hole, how many rabbits live in Benjamin's backyard?

2 6
3 9
4 12
5[]

- | / Show your work

=)
Daniel can fit 3 toy soldiers into each of his 5 cars. How many
toy soldiers in total can he fit in all the cars?

In Out
1 3
2 6
3 9
4 12
5 :

k ] )

Show your work

|fJ

Each coat rack has 2 umbrellas. How many
umbrellas are on 5 coat racks?

In Out
1 | 2
____________________ _i______________________
2 | 4
____________________ A —
3 i 6
____________________ _i______________________
4 = 8
5[]
\_ . J
Show your work
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#4
At the circus clowns can each juggle 4 balls. If there
are 3 clowns, how many balls are being juggled?
In Out
1 3
2 6
3 9
4
: : Show your work
|fJ
There are 5 rabbit holes in Kevin's backyard. If 2 rabbits live
in each hole, how many rabbits live in Kevin's backyard?
In Out
1 2
2 4
3 6
T,
5 i
: e
Show your work
#6
A toad can eat 6 flies. If there are 2 toads in Zachary's
pond, how many flies did they eat together?
In Out
1 2
S
3 6
PR
5 i 10
N )
Show your work
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1#7]

A hamster has made 2 trips to his stash, each time stashing 4
nuts. How many nuts will be in the hamsters stash?

In Out
1 2
2 4
3.6
4
\. J
Show your work
[+ : .
If you have 3 pies that are each cut into 4
slices, how many slices of pie do you have?
1 3
2 6
3 | 9
4
\ J/
Show your work

|£J
Darren is at the fair. Each ride costs 6 tickets, and he
goes on 2 rides. How many tickets did he spend?

In Out
1 § 2
2 § 4
3 § 6
4 § 8
________________ R —
5 : 10
6 i
5 ] )
Show your work
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#10
Each coat rack has 2 umbrellas. How many
umbrellas are on 6 coat racks?
In Out
1 § 2
2 § 4
3 6
4 | 8
5 i 10
NN S
Show your work
#11
At the circus clowns can each juggle 4 balls. If there
are 3 clowns, how many balls are being juggled?
1 3
2 6
3 i 9
4
. J/
Show your work
#12
Tyler is at the fair. Each ride costs 6 tickets, and he
goes on 3 rides. How many tickets did he spend?
In Out
1 3
2 6
3 9
4 12
5 i 15
SR S
Show your work
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Question Answer
#1 15
#2 15
#3 10
#4 12
#5 10
#6 12
H7 8
#8 12
#9 12
#10 12
#11 12
#12 18
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